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Note: (i) There are in all eight questionsyin this
question paper.
S
(i) Al questions are cdmpulsory ™= " ™,
(ili) In the beginning of each question, the

number of parts to be ‘attempted has
been clearly mentioned.

(iv) Marks allotted to the questions are
indicated against them.

(v)  Start from the first question and proceed
to the last one.

(vi) Do not waste time over a question which
you cannot solve.
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1. Attemnpt any. IO!“' parts of the fgllgwing _ 2. Attempt any four pﬂl'lS of the ﬂﬂluwmg“ AR T

a) Express +(a+ 2 (3) 1fthe parabolay? = 4ax passes through the
@ in sland:?iig:f hh,* srby=e-b 1 ‘ point (%, -12), then find length of Latus
(®) Prove that m entricity of . ecm qular . rectum and co-artdmati of focus. 2
Hyperbola x’ - y? = a?is 2. 1 (b) If matrix A =[ , J then prove that
(c) Solve the inequa]iry 24x < 100 when x is a ' 2 ]
natural number. 1 : AT 4A + 51 = 0 where | is unit matrix. 2
: x+y+z] [9 (¢) Find equation of the circle which touches
(dy [ x+1z =[5]1 then find value of x, y 'y-axis and whose centre is (3, 4). -2
y+z 7 , ? (d) Solve the equation
4 and 2 - f tan~Nx+ 1) + tan~!(x - 1) = tan""! 3 2
() Find distance between two points P(1, -3, 4) % v 3!
and Q(—4, 1, 2). 1 (€} Prove that triangle whose vertices are (1, 2, 3),

(2,3, 1)and (3, 1,2) is an equilateral triangle. 2
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3. Attempl any four parts of the following : ¢

Attempt any three parts of the following,:
(a) Find, the equation of the ellipse whose

(a) Solve the following inequaliti
i . gqcfl;lr.ici? is 2/3, focus (3, 4) and directrix graphical method : & qualities by 3
x+4y=5,
(b) Prove that L+y>6,3x+dy<|2,
a+b*2c a b —:
| - sinx+4/1 +sin x
_ . (b) Evaluate : cot~! {\[
¢ bicta b ‘-2[a+b+c}3 : I=sinx -1 +sinx
(¢) Fixd cinlrc andaradiu?s?lf-;jzrbcle X © Fir?d the ratio in which the line joining the
32+ 352 Sx— 6y +4=0 ; Pm“;s (4,8, 10) and (6, 10, -8) is divided by
- YZ'p ane, 3
* ' (d) Provel_l13121an"\[g=cns"(ﬁj 2 ' J 1 a be )
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(e) Ifh—L} 2] and B—[ﬂ n]' Find A - B N ) (c-a)
and B - A, 2 - A
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Attempt any three parts of the following : 7. ﬁﬂ%ﬁiﬁﬁ & fovel T '@tr;-aﬁ Bl THING :

(@) If line Ix + my + n = 0, be tangent of (%) ﬂ'&mm%@m%ﬁﬂmm

2 2 RN ™ )

hyperbola l—z‘y—zﬂ,ﬂlen prove that ! fire! aref e Yl 3 wea o 90 ",
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() Prove that lan‘l( ; -J '

= tan”'x . wivem sfgdfaaim 2 | 4
(¢) Find the equation of the circle whose centre 1. Attempt any one part of the following :
lﬁs or.; t{we line 3x + 4y = 5 and passes (a) 1fin any ellipse, angle between Jines joining
through the points (1, -2) and (4, -3). 3 . the end points i ; ; ¥
(@) Three points B3, 2, - 4), Q5. 4. - 6) and R o rli p;ind of mmur._a:_ns and its foci is
are collinear. If the point Q divides the line b then \ the eccenluc;-ly*‘ 4
PR in the ratio 1 : 2, find the co-ordinates of (b) Prove thet inverse of a non-singular square
the point R. 3 matnix is wnique, -‘ 4
ﬁnﬁf@aﬁﬁ%ﬁmmzﬁlgﬁﬁﬁq; N e ﬁﬁ%ﬂ.ﬂ ' RV,
(F) () 4R cos'x + cosly = w2, @t fyg B - T TS 1 &l Sl
R T cosx = sinly, 2 . (%) »m fram ‘ﬁ e ¥ Fefafes gftem
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wa i, feh a1 R E | X+2y=-32=-4, 20+ 3y +22=3,3x -3y -
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203 ] xtyt+tz=§
AR 7 iR | 4 x-ytz=2
k. Attempt any one part of the following : ety-z=| 4
(@ () coslx + cosly = w2, then DrOVe that 8. Attempt any one part of the followirg :
cos\y = sin~ly, 2 (8) Bolve the following system of equations by
(i1} Obml;g such a couple of odd serial Cramer's Ryle :
numbers whose sum is greater than | I+3Y—33=-4.11'+33‘+23=l3: 3 -
; ~Jy-dz=1l. &
e0d Which ert less than 10, 2 (b) Solve the fallowing equations by matri
® tx-5-1)]02 1) 47]=0 g method :
203l ) rryrz=6
Bnd the value of x.
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